
PROBLEMAS DE RADICACIÓN 57 
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RADICACIÓN 

Problema 57: 

Simplifica: 

(
9௡ + 27௡

3௡ + 9௡
)ଵ/௡ 

Solución Problema 57:  

(
(3ଶ)௡ + (3ଷ)௡

3௡ + (3ଶ)௡
)ଵ/௡ = (

3ଶ௡ + 3ଷ௡

3௡ + 3ଶ௡
)ଵ/௡ =  (

3௡ · 3௡ + 3௡ · 3௡ · 3௡

3௡ + 3௡ · 3௡
)ଵ/௡ =  

En el numerador sacamos factor común 32n, y en el denominador sacamos 
factor común 3n: 

=  (
3ଶ௡ · (1 + 3௡)

3௡ · (1 + 3௡)
)ଵ/௡ = (

3ଶ௡

3௡
)ଵ/௡ = (

3௡ · 3௡

3௡
)ଵ/௡ =  (3௡)ଵ/௡ = 3௡/௡ = 3 

Luego: 

(
9௡ + 27௡

3௡ + 9௡
)ଵ/௡ = 3 

 

 

 

 

 

 

 

 

 

 

 


